C:h Checking Division Answers

Name:
Check each answer. Determineif theanswer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182+ 6=29r15 \
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2

If the answer is the same as the + 7 + 5

\_dividend, it is correct. 263 1 % WIE

1) 903+8=112r7 2) 635+6=105r5 4
5.
6.

3) 688+8=137r3 4 674+5=134r4 b
8.
9.
10.

5 571+3=190r1 6) 817+9=204r1

7) 941+2=470r1 8) 808+6=134r3

9 593:+7=84r6 10) 694+8=18616

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 7




=

Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263+ 8=3217 182+6=29r5
checked by multiplying the - 29 1 correct
guotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
\_dividend, itis correct. 263 179 % WiE not
1) 903:8=112r7 112 2) 635:6=105r5 105 4 __correct
*x 8 *x 6 5, correct
896 630
+ 7 + 5 6. not
903 635 ;
correc
3) 688+8=137r3 137 4 674+5=134r4 134 !
x_8 x 5 s ___not
1096 670
+ 3 + 4 9. not
- 1099 _m correct
10.
5 571+3=190r1 190 6) 817+9=204r1 204
x 3 X 9
570 1836
+ 1 + 1
571 1837
7) 941+2=470r1 470 8) 808+6=134r3 134
X 2 X 0
940 804
+ 1 + 3
941 807
9 593:+7=8416 84 10) 694+8=8616 86
x 7 x 8
588 688
+ 6 + 6
594 694
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